Name _______________________________________________

Exam #2, Math 104, Autumn 2007

1. Solve the following equation for x.
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2. Solve the following equations for the specified variable.
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3. Mattie Evans drove 150 miles in the same amount of time that it took a turboprop plane to travel 600 miles.  The speed of the plane was 150 mph faster than the speed of the car.  Find the speed of the plane.

4. The horsepower that can be safely transmitted to a shaft varies jointly as the shaft’s angular speed of rotation (in revolutions per minute) and the cube of its diameter.  A 2-inch shaft making 120 revolutions per minute safely transmits 40 horsepower.  Find how much horsepower can be safely transmitted by a 3-inch shaft making 80 revolutions per minute.
5. Simplify.  Assume any variables may be any real numbers.
a. 
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d. 
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6. Sketch the graph of 
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.  Find the domain and range and write in interval notation.

7. Simplify, and write as a single reduced radical.
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b. 
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8. Simplify.
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9. Add or multiply as indicated and simplify.
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10. a. Rationalize the denominator.
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b. Rationalize the numerator.
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Bonus:

a. Multiply and simplify.
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b. Factor out 
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